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%HUGDVDUNDQ�KDVLO�SHPEDKDVDQ�VHEHOXPQ\D��PDND�GDSDW�GLVLPSXONDQ�GDUL�

KDVLO�DQDOLVLV��SHUDQFDQJDQ��GDQ�SHQJXMLDQ�VLVWHP�LQIRUPDVL�SHUVHGLDDQ�EDUDQJ�

SDGD�8'��-2<2�0$.085�-$7,�-HSDUD DGDODK�VHEDJDL�EHULNXW�

�� 6LVWHP� LQIRUPDVL� SHUVHGLDDQ� EDUDQJ� SDGD� 8'�� -2<2� 0$.085� -$7,�

-HSDUD�GDSDW�PHPEHULNDQ�LQIRUPDVL�VWRN�EDUDQJ��GDUL�SLKDN�JXGDQJ�NHSDGD�

SHPLOLN�PHQMDGL�OHELK�FHSDW�GDQ�DNXUDW�

�� 6LVWHP� LQIRUPDVL� SHUVHGLDDQ� EDUDQJ� SDGD� 8'�� -2<2� 0$.085� -$7,�

-HSDUD� GDSDW�PHQ\LPSDQ��PHQDPSLONDQ� GDQ�PHQJXEDK� VHUWD�PHQJKDSXV�

GDWD�VWRN�EDUDQJ�PDXSXQ�GDWD�FDWDWDQ�SHVDQDQ�

�� 3DGD� KDODPDQ� ODSRUDQ�� VLVWHP� GDSDW� PHQFHWDN� ODSRUDQ KDULDQ� PDXSXQ�

ODSRUDQ�EXODQDQ�VHFDUD�PHQ\HOXUXK�

�� .HOD\DNDQ�DSOLNDVL�GLODNXNDQ�ROHK�VDWX�DKOL�PHGLD� GDQ�PHQ\HEDU����DQJNHW�

UHVSRQGHQ�GHQJDQ�KDVLO�VHEDJDL�EHULNXW�

7DEHO�����7DEHO�+DVLO�3HQLODLDQ�$KOL�0HGLD�GDQ�$QJNHW�5HVSRQGHQ

��� 6DUDQ

3URVHV� SDQMDQJ� SHPEXDWDQ� VNULSVL� LQL� WHODK� PDPSX� PHQJKDVLONDQ� VHEXDK�

VLVWHP� \DQJ� VHGHUKDQD� GDQ� MDXK� GDUL� NHVHPSXUQDDQ�� 2OHK� VHEDE� LWX�� XQWXN�

SHQJHPEDQJDQ� VHODQMXWQ\D�� SHQHOLWL� PHPEHULNDQ� EHEHUDSD� VDUDQ� \DQJ�

GLKDUDSNDQ�PDPSX�PHQMDGL�EDJLDQ�WHUZXMXGQ\D�VLVWHP�LQL��GLDQWDUDQ\D��

�� 6LVWHP�LQIRUPDVL�SHUVHGLDDQ�EDUDQJ�SDGD�8'��-2<2�0$.085�-$7,�

-HSDUD�GLWDPEDKNDQ�ILWXU�SHPHVDQDQ�ODQJVXQJ�ROHK�VL�SHPEHOL

1R 3HQJXML 1LODL .ULWHULD

�� $KOL�0HGLD ����� 6DQJDW�/D\DN

�� 5HVSRQGHQ ����� 6DQJDW�/D\DN
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�� 3HUOX�DGDQ\D�ILWXU�QRWLILFDWLRQ�V\VWHP�SDGD�VLVWHP�LQIRUPDVL�SHUVHGLDDQ�

EDUDQJ�SDGD�8'��-2<2�0$.085�-$7,�-HSDUD��VHKLQJJD�SHPLOLN GDSDW�

PHPEHULNDQ�UHVSRQV \DQJ�FHSDW��NHWLND�DGD�SHVDQDQ�GDQ�SHPHVDQ�GDSDW�

PHQHULPD�SHPEHULWDKXDQ��MLND�DGD�SHUXEDKDQ�


